Q-1

eng hin

IBPS RRB CLERK (PRE)-13/2022

A boat travels 18 km upstream and 14 km downstream in 4 hours. It travels 3 km upstream and 10.5 km downstream in 1.25 hours. What is the speed (in

km/h) of the stream?

T AT FT 18 fhefTHie? 9T 3 Tiae 3T 14 FhefTHies 91T o ST et Fo § Fof 4 5 7 &1 THT 91 &1 3 FhefrHies omer o gfase 3T 10.5

TRATHTET &2 % ST ST § 1.25 5 @97 g1 &TeT i1 91t (Trefreie/se #) #4782

01. 4 02. 45
03. 5 04. 55
05. 10

Solution for Question 1

eng hin

Ans Key: 1

A can complete a certain work in 30 days. A started the work and B joined him after 4 days and the work was completed in total 20 days. In how many

days can B alone complete the work?

A TeY 78 7 30 oA & O 7 ThAT 81 A T HTH FAT A AT 37T 4 f3w weama B 5o 9 e w3 qur w18 f1 20 &9 7 v Er wm B

STHAT SET FHTH &1 Fohee o § Q7 ¥ bl 22

01. 42 02. 45
03. 48 04. 50
05. None of these

TAH H FIS T

Solution for Question 2

A certain sum amounts to rs. 34400 in 6 years and to rs. 24800 in 2 years at simple interest. The same sum will amount to rs. x in 2

rate, when the interest is compounded yearly. What is the value of x (nearest to a whole number)?

TS LTI FTETLOT 34T 92 6 9 H rs. 34400 3T 2 a9 H rs. 24800 FT ST &1 T T Ga<ITer 2
THG (g T & AT(GH FATIT 2raT gl x FT AT (Fefead ot 511 ) 747 82

01. Rs. 25088 02. Rs. 26593
03. Rs. 26690 04. Rs. 27095

05. None of these

TR AE T

Solution for Question 3

eng hin

ST of 4 years = 3440024800 = 9600
ST of 1 year = 2400

Principal = 24800 — 4800=20000
Rate % = 12%

4

Aount at the end of 2~ years =20000 x 1.12 x 1.12 x 1.08
3

= 27095 (approx)

4 911 T SI = 3440024800 = 9600
1 91T &1 SI=2400

A& = 24800 — 4800=20000
X% =12%

22 99 % are fsg| = 20000 x 1.12 x 1.12 x 1.08

2
3

i | b

Ans Key: 3

years at the same

[FER

Tt 7 T 2T T s, x BT ST &, ST AT

Ans Key: 4



= 27095 (FT¥T)

Q-4 A person marks his goods 30% above the cost price. He sells 60% of the goods at the marked price and the rest at 15% loss. What is his gain percent on
eng hin  the whole transaction?

TS SATh STTAT AEQAT BT FALT & 30% SATEF ToF T ST FH2dT &l 98 60% TG Tl A1 T T2 AT AT FT 15% B T a7 a1 gl T

T # 3T Tierd are o 82
01. 9 02. 10.5
03. 12 04. 15
05. None of these
T q TS AR
Solution for Question 4 Ans Key: 3
eng hin 6x13+4x8.5)-100
Bl i LU
100
=(78+34)-100
=12%
- . . . . o . 22 5 . . . . . .
Q Sh A, B and C enter into a partnership with their capital in the ratio = - E - Z . After 4 months A increased his capital by 50%. B increased his capital by 25%
eng hin 548
and C decreased his capital by 20%. At the end of a year, there was a profit of rs.7800. What is the share of B in the profit?
A, B ¥ C T AT § U =AY A e, o st ot i Ay 2. 2.2 5 ergne 7 fRser e 4 AT e AT S O 50% =T T, B
T ST GSIT 25% FRT &1 37T C F AT GSAT 20% FH FHT 1| a9 01 37T 7 15.7800 FT ATH G| ATH H B FT FZeqT ohcqar 22
01. Rs. 3500 02. Rs.3700
03. Rs. 4200 04. Rs. 2560
05. None of these
TN A TS T
Solution for Question 5 Ans Key: 1
A B C=16:30:25
=16x44+24x8230=4+37 S4B 23 x4+ 20«8
=§F41-105: 65
800 N=
B=——1—=3500
Q-6 In a class of 140 students, the ratio of the number of boys to that of girls is 3:4. The ratio of number of students who passed in a test to those who failed is
3:2. Among the boys, the ratio of the number of those passed to those who failed is 1:2. What is the ratio of the number of girls who passed to those who
failed?
140 ==t &7 UF FaT §, A1 6 e {7 ASTRAT 6 ST H 3 1 4 F7 UG 8| THAT H I gU FARntdat  weA o7 v gu Gt
T HEAT T AT 3 1 2 B TASHI H, ST T g ITe0T H@AT AT ST e U ST ST H 1 1 2 T ST | ASTHAT | ST I g3 ITeh! H&AT AT
ST e g SRt AT | ST fheer g?
01. 3:1 02. 4:1
03. 3:2 04. 3:4
05. None of these
i TS A
Solution for Question 6 Ans Key: 2
eng hin
P
2 20
60 ¢
40
140
P
G 64
80 F—
16
Q-7 In a constituency 60% of voters are males and rest are females. 40% of male-voters are literate and 20% of female voters are literate. By what percent is

eng hin  the number of literate males less than that of illiterate females?

T a8 § 60% AASTAT T2 8 Y arht GiRery 81 40% TE-Haardr |1ere 8 3i¥ 20% AT Aqsrar a1e< g e gigens £ qoer §



AqTEAT TEOT T AT e wfdera w7 82

01. 20 02. 25
03. 30 04. 40
05. 375
Solution for Question 7 Ans Key: 2

eng hin

Q-8 In each of these question, two equations (T) and (IT) are given. You have to solve both the equations and give answer.
Lx-1=0
Ly +1=0

598 @ UAP Uy A, ) gAHOr (1) 3R (1) ’w v ) 3mue 1At Tttt &Y g e & 3R IO AT B B

L x>~1=0
Ly +1=0

01. ]fx<y 02. ]fx>y
T x< y I x> y
03. Ifx<y 04. Ifx>y
T x<y x>y
05. Ifx =y or Relationship cannot be determine
7T x = y IT FFE T Tal (641 ST
Solution for Question 8 Ans Key: 2
enghin x=1

T
x>y

Q-9 In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.

[x*=T7x

M (v +7) =0

TAH | TAE W H, T FHIH0T (1) 3 (1) T30 70 g1 et 97 R0 w7 g AT g ST 3T A1 FAT g

[x*=Tx
2

IL(y +7)7=0

01. x>y 02. x<y
03. ny 04. xSy

05. x =y, or relation can’t be established
X =y, AT q¥ae ST ol 6T ST
GehdT
Solution for Question 9 Ans Key: 1

enghin x=0,7
y=-7
X>y

Q-10 In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.
enghin I (x+2)2-25=0



IL3y2+y—4=0

zad ¥ e uy H, & gAteor (1) 3R () BT v &) 3 St o B o e @ 3 A AT B B

L (x+2)2-25=0
IL3y2+y—4=0

01. Ifx<y 02. Ifx>y
?Jﬁx<y H&x>y
03. Ifx<y 04. Ifx>y
TR x<y x>y
05. Ifx =y or Relationship cannot be
determined
TR x = y AT TFael TATIOT Al AT ST
AR &

Solution for Question 10

Ans Key: 5

eng hin

x=3,-7, y=1,1.333

So, Relationship cannot be determine
x=3,-7, y=1, 1.333

I TR TATIAT Tl (hAT ST qhdT 8

Q-11

In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.
I 42x%+378x —1512=0
I1. 84y? + 262y — 420 =0

TAH I TAF W H, & qH 107 (1) < (1) T 70 8| SATTent A1 AH 0T hl g1 HeAT g 3T I 3ATd HeAT 5l
I 42x%+378x—1512=0
IL. 84y% + 262y — 420 =0

01. x>y 02. x<y
03. XS}/ 04. ny

05. x =1y orrelationship cannot be established
x =y IT TqFwe TATIOT Tl TRaAT ST el

=
d

Solution for Question 11

42x%+378 x - 1512 =0

42%% +504x — 126x - 1512 =0
42x(x + 12) = 126(x + 12) = 0
x=-12,x=3

= 84y’ +262y-420=0
84y>+ 360y — 98y — 420 =0
12y (7y +30) — 14 (7y +30) =0

y=-30/7,y=17/6

Ans Key: 5

Q-12

eng hin

In each of these question, two equations (I) and (II) are given. You have to solve both the equations and give answer.
L 7x%+42x — 5040 =0
IL 4y? + 17y — 30870 =0

58 A Udd uH A, & gHAeor (1) 3R () e v &) U St gl B v Aear € 3R IO Ad B 2

I 7x2+42x—5040=0
1L 4y? + 17y — 30870 =0

01. X > y 02. X< y
03. X S y 04. X 2 y
05. x =1y or relationship cannot be established

X =y IT e w70 Tt (36T o7 Fehar



2

Solution for Question 12 Ans Key: 5

eng hin

7x% +42 x - 5040 = 0

7x% +210x — 168x — 5040 = 0
7x(x +30)—168(x +30)=0
x=-30,x =24

> 4y +17y-30870=0
4y? +360y — 343y— 30870 = 0
4y(y +90) — 343(y + 90) = 0
y=-90,y=343/4=85.75

Q-13 The value of a stone varies directly as the square of its weight. If a stone worth Rs. 12100 is divided into two pieces in the ratio 3 : 8, the loss in value is
eng hin  closest to:

et e T go 39 AT % A9 & SR a2ddr gl TS UFE qea?, |t 4o 2 12100 8, F7 &7 et § qre 3w Smar &, s 9 #1308

T ST &, A7 T o go | griv fAwferfea & & s Feeaw 82

01. 39.7% 02. 40.1%

03. 40.2% 04. 40.3%

05. None of these

TAH HHIE Tol
Solution for Question 13 Ans Key: 1
11°—(8-+37 )

=39 ."‘_ _
Q-14 Three friends A, B and C invest their capitals in a business in the ratio 8:3:9. At the end of every quarter A halves his capital, whereas B doubles his capital

and C leaves his capital as it is. At the end of year, if share of profit of B is rs. 1.8 lakh then what is the total profit (in lakh)?

TF FATITE | 19 (9T A, B #iTT C 1 YT #1813 : 9 % 0T § Tarer #va &1 wear TAAer 37 §, A T+ YoiT T Tger & 3T FT a7 €,

STafh B ST Gt &1 AT T <qT &, 1T C STIAT GSM &l gl SET gf L@ a7 gl a9 & 37d § [ a1 § ¥ B Fl rs. 1.8 A1 T4 &, a1 o A1+

(FTE T) FAT 27

01. 3.36 02. 3.64

03. 3.38 04. 3.84

05. None of these
Solution for Question 14 Ans Key: 4
enghin = (8x3+4x3+2x3+1x3): Bx3+6x3+12x3+24x3):(9x12)

=15-45:36

45 — 180000

96 — 384000
Q-15 Twelve persons can construct a 320 m long wall in 32 days working 8 hours a day. In how many days can 40 persons construct a 250 m long wall working
eng hin 10 hours a day?

12 Zf<F 8 = &1 Far 32 T § 320 Hiex A&l <11 a7 Thd g1 40 2Tk 37 § 10 5 F71H F2a 250 Hie dt i w1 [t G fa=r +

FTHHT 22

01. 10 02. 9

03. 8 04. 6

05. None of these

TAH T TS AR

Solution for Question 15 Ans Key: 4
enghin  12x32x8 40xxx10

320 230
x="5




Q-16  What should come in place of the question mark (?) in the following number series ?

eng hin  eferfEra Heam ae & w1 e (2) % 240 9% F47 e =g n?

1321 709 313 75 33 ?

01. o 02. -50
03. -69 04. -70
05. -55

Solution for Question 16

Ans Key: 3

enghin  1331- 10= 1321
729 — 20= 709
343 -30=313
12550 =175
27-60=-33
1-70=-69

Q-17 What should come in place of the question mark (?) in the following number series ?

eng hin  FEferfEa Heam gaan § w1 e (2) % 240 9% F47 A{er =Arign?

127 470 686 811 875 ?

01. 900 02. 902
03. 903 04. 907

05. None of these
TAY H F IS A8l
Solution for Question 17

23 gl a5l 3 P g

Q-18 What should come in place of the question mark (?) in the following number series ?
frerferferd wwear st § w1 = (2) F T4 92 497 A1 918 u?

513 644 781 ? 1097 1288

01. 930 02. 925
03. 927 04. 922
05. None of these

Solution for Question 18

+131, +137, +149, +167, +191,
+6 +12 +18 +24

Q-19 What should come in place of the question mark (?) in the following number series ?
eng hin  FEferEa deam gaar & w1 e (2) F 20 9% F47 er AU n?

56 67 80 88 ? 109 119

01. 100 02. 102
03. 104 04. 96
05. 98

Solution for Question 19

Ans Key: 2

Ans Key: 1

Ans Key: 3

eng hin  Difference = sum of the digit of the preceding number
Y = QAT HEAT 3 ST BT AR

Q-20  What should come in place of the question mark (?) in the following number series ?

eng hin  eferfEra deam aem § wer e (2) % w40 92 F41 e =g n?
200 ? 33 48 74 109 159
01. 22 02. 23

03. 24 04. 21
05. 27



Solution for Question 20

Ans Key: 2

enghin = 52 732 12 1 .
Q-21  What should come in place of the question mark (?) in the following question?
eng hin

[{(4)?}°]%=16’

33 0 w1 | wegaTEE g T A S e

[{(4)?}°]%=16’

01. 46
03. 12

05. None of these

T A T

Solution for Question 21

02. 26
04. 24

Ans Key: 4

eng hin

Q-22

[{(4)2}°]*=16'
= [{16}°]*=16’
?=6x4

?=24

What should come in place of the question mark (?) in the following question?

v529 =7

33 0 w51 | wepaTE g 7 A A Ao

V529 =7

01. (-9-8)
03. 207,
+(50)

05. None of these
TAH TS A8l

Solution for Question 22

Q-23

v 529=;
?=1+23

‘ 207
=+ (=5

I
g

What value will come in place of question mark (?) in the questions given below?

3,93 .52 o 41
?5><24+53 7 14

02. 23
04.

/.
J
7%

Freferfera st ° weEm=e (2) F O 9T T 5 A

393,52 9241
ToRZE AT

01. 49
2750

03. .23
230

05. None of these

Solution for Question 23

02. o 49
26320

04. 5923
250

[ 3%}

Ans Key: 3

Ans Key: 1

eng hin

a8 11 .2
ek B
3 .52 41 5
2010+53+14 ?

25+[£+3+1]=?

1_9
+1I— !

10 3 4

109
?=
?=26+ 1%

_ 49
?-264—1

49
? foat




Q-24 What value will come in place of question mark (?) in the questions given below?

enghin  [(393.60)2+24.6]x12=?

Frarferfera weit & Jeram=e (2) 3 O 9% F#T 6I SAA?
[(393.60)2+24.6]x12=2

01. 75571.20 02. 76621.20
03. 75461.40 04. 78471.50
05. None of these

TAH HHE TRl

Solution for Question 24

Ans Key: 1

enghin  393.60x16x12=?
9=75571.20

Q-25 What will come in place of question mark (?) in the following question ?

enghin 7.86+12-12.82 +68.56="7

e wort & weaEm=e g (2) % T 9% 7497 /1 S 2
7.86+12-12.82 + 68.56 =2

01. 56.425 02. 56.395
03. 56.775 04. 56.495
05. None of these
TAH FFS AR
Solution for Question 25

0.655-12.82 + 68.56 =7
69.215-12.82=7
?=56.395

Q-26 What will come in place of question mark (?) in the given question?

449 af 475+ T2%0F 55 =12

500 AF T

o 0 wor | weraTee g (?) % T U AT S0

44% of 475+ T2%af 55 =12.5% of ?

01. 1988.8 02. 1977.8
03. 1966.5 04. 1966.2
05. None of these
BEEEIERE]
Solution for Question 26

- -

enghin__ 44% of 475+ 72%0f 55 =12.5%f ?
7=(209+396)x8
7=1988 8

Ans Key: 2

Ans Key: 1

Q-27  What will come in place of question mark (?) in the given question?
enghin  (2%0£999)+0.9 =166.5x0.12

o w o | weraTeE e (2) % T 9% AT AT
(7%00f999)+0.9 =166.5x0.12

01. 15 02. 1.8
03. 2 04. 28

05. None of these
TAH H FIS Tl

Solution for Question 27

Ans Key: 2

enghin (704,999} +0.9=166.5x0.12
166.5x0.12%0.9100
999

?

1=15x12



Q-28 What will come in place of question mark (?) in the given question?
eng hin 16641 75+1008x1.25-1220=065="7

2w U oAt H weraTEe e (2) F T 97 T S
166451.75+1008x1.25-1220x0.65=7

01. 3379 02. 3398

03. 3377 04. 3325

05. 3345
Solution for Question 28 Ans Key: 1
eng hin ?=664x1.734+1008 x1.25-1220x0.65

=3379
Q-29  What will come in place of question mark (?) in the given question?
enghin  (15x0.80) = {1080 49 =30 ) x609 = 7%29

0 0 oy # serET=e 6 (?) 3 T 9T T S

(15%0.80) + . [1080% 49 30 ) %609 = 7% 29

01. 96 02. 108

03. 72 04. 48

05. None of these

TAH HAS Tal
Solution for Question 29 Ans Key: 3
x49+30) x609="7%29

Q-30 What will come in place of question mark (?) in the given question?

U U wor | weraTee g (?) % T U AT AT

01. 10 02. 8

03. 7 04. 9

05. None of these

e
Ans Key: 2

Solution for Question 30

enghin 3726081 = 73
JB1+3=2

=8

eng hin Passage

Production of Tea by state Assam over the years (in 1000 Tones).

Production of Tea

2012 2013 2014 2015 2016 2017 2018

Passage for Question 31, 32, 33, 34, 35 (ST-04 RRB CLERK PRE M (36-40) 2021)

Study the following graph carefully and answer the questions given below it.




T UTH FT AT F AETTT FTTAT 6 IAT I
T3 T Aot # o1|e TT57 g TR 0 AT &7 ITEA (1000 AT )

91 &1 3c4iqeT

2012 2013 2014 2015 2016 2017 2018

Q-31 What is the difference between the production of tea that in 2013 and in 2017?
enghin 9 2013 3T 2017 § =T F ITUTEA H ¥ fhaer &2

01. 30000 02. 25000
03. 45000 04. 32000

05. None of these
TAH HHIE Tol
Solution for Question 31 Ans Key: 1

eng hin  Difference= (60-30)
= 30,000 Tones
HAT = (60-30)
=30,000 &

Q-32 In which of the following years was the percentage increase in production of tea from the previous year the maximum among all the given years?

eng hin  FEferiEd & & e a0 & =11 & Ieamae # feer auv it qorer # gidera gie 79 faw 17 aut § stfaeras «fi?

01. 2012 02. 2015
03. 2014 04. 2016
05. None of these
Solution for Question 32 Ans Key: 3

eng hin =2014

Q-33 What is the ratio of percentage increase in 2014 to that of 2017?
eng hin 2014 3 2017 & witrerd Ff 1 stqama F47 22

0i. 2:3 02. 122

03. 3:2 04. 4:3

05. 3:4
Solution for Question 33 Ans Key: 4
enghin 20 20

30740

=4:3

Q-34  What was the percentage increase in the production of tea from 2014 to 2017?
enghin a9 2014 §aT 2017 H T % IT1aA § fohaet araerd it I g22

01. 24% 02. 25%
03. 20% 04. 30%

05. None of these
TR TS AL
Solution for Question 34 Ans Key: 3

i -5
enghin 60 JOXIOD
30

=20%



Q-35

In how many of the given years was the production of tea more than the average production of the given years?

enghin 300 a6t # F fhaw aui § =17 F7 Iea1ad WeiRa aut i Somaa 7 fasF an?
01. 1 02. 3
03. 2 04. 4
05. None of these
AT F FIE TR1
Solution for Question 35 Ans Key: 2
enghin  25430+50+45+40+60+70
320
=457
Passage for Question 36, 37, 38, 39, 40 (ST-04 RRB CLERK PRE M (31-35) 2021)
eng hin Passage

The following table shows the total number of students appeared in an entrance exam from five different schools in different years and the ratio of passed to failed
students among them. Answer the given questions based on this table data ?

! 2015 | 2016 2017
School\Years . Total | Total ; Total
Pass:Fail | Pass:Fail Pass:Fail

| Appeared Appearad Appeared
A | 665 1:8 689 T:6 536 5:3
B 396 | 4:7 | 637 §:5 663 8:9
C 735 7:8 | 688 9:7 853 12:7
D 427 | 4:3 | 394 17 651 13:8
E 783 17:12 | 608 12:7 | M2 | 9:5

%mar%r%rﬁtrar .WT%.ﬁF T e e i —— #ﬁar"rax gaer qdieT # oI SET B Fedr 3’ 3qd e F sl
BT &1 AT BHEl @ 3HuTd f&dm a1 1 58 dlferel 3er @ YR W Gu arw g4t & o dfav 2

. 2015 2016 2017
° FeT IUCCUT | T8 : e | el SUMCY | T e | el SuttuT | W ;e
A 663 11:8 689 7:6 536 . 543
B 396 4:7 637 85 663 8:9
C 735 7:8 683 & 835 257
D 427 4:3 594 8F 651 13:8
E 783 1012 608 Wi 742 9:5
Q-36 What is the difference between the total number of passed students from school D in the year 2015 and the total number of failed students from school B in
eng hin  the year 2017 ?
T4 2015 H THA D & I STAT AT el TEAT T AT 2017 H THA B F 6 STAT 1 ol AT H F47 (AT g ?
01. 107 02. 117
03. 97 04. 77
05. None of These
TAH q TS AR
Solution for Question 36 Ans Key: 1
eng hin R equired difference = 663 - — 427> =351 - 244 = 107
17 7
AT ST = 663 o —427x 2 =351~ 244 = 107
17 7
Q-37 The total number of passed students from school A in the year 2015 is approximately what percent of the total number of failed students from school B in
eng hin  the year 2017 ?

FF 2015 H TR AT IO ST 6T HoT FLAT, 2017 F THA B T F{A STHERA AT T HEAT T 71T Fohaer wfderd g 2

01. 121 % 02. 95%
03. 101 % 04. 110%

05. None of These
iy & 7 A



Solution for Question 37 Ans Key: 4

eng hin 2 4
665x—
Required % = — 19 .-1pp= 110 % (approx)
663 —
17
665><£
e %= 19 .100= 110 % (FTT)
663><F

Q-38 What is the average number of failed students from school C in all three years together ?
enghin T I | TF 8T TFA C & STHEA AT 07 AT HAT FATE 2

01. 436 02. 336

03. 366 04. 396

05. None of These

T A A A
Solution for Question 38 Ans Key: 2
eng hin  Average number of failed students from school C in all three years together
pawsn R omse W =me Jf
= [IFXTg TOSSXTLTEI s = (392 +301 +315) /3= 1008 /3 =336

S 5% OB Ao SIS N SO SE

1_ 10

Q-39  What is the total number of failed students from school E in all three years together ?
A AU H TF T TRA EH FA RS ST 61 HeAT FATE 2

01. 883 02. 913
03. 813 04. 853
05. None of These
TAH HAS Aol
Solution for Question 39 Ans Key: 3
Total number of failed students from school E in all three years together
B L83 ﬁ; +608 ;_— 742: _ =324 +224 + 265 =813
F7 7t 3 TH HT?JI'-?-?EFT E f{{-ﬂ S STAT #hi T
- 53 _-_ 608X +742x > =324+ 224 +265 = 813

Q-40 What is the total number of passed students from ail five schools in the year 2016 ?

enghin 9 2016 F Tt O7= AT 7 IO AT 1 F{A AT FATE 2

01. 1797 02. 1877
03. 1987 04. 1997
05. None of These
TAH A ATE Aol
Solution for Question 40 Ans Key: 5
eng hin  Total number of passed students from all five schools in the year 2016
= b
= 689><;+63?><§+688xi+59—1><£+608><1—' = 1897
13 13 16 18 19
T 2016 H T T7= TRAT T I AT 1 FeT ST
= )
= 689x;+63?><£+688xi+59—1x£+608><1—' = 1897
13 13 16 18 19

Q-41 Anil walks 3 km towards north then turns left and walks 5 km. Further he turns right and walks 6 km. Again he turns left and walks 3 km. How far and in
eng hin  which direction is he from his starting point?
srferer 3T AT 3T 3 ForelT =rerar g, Te ard qear € siT 5 fareT =rerar 81 o ag 213 q=ar 8 o< 6 Foeft srerar 81 fhe & a8 ar gear g & 3
et =eraT 81 9 e e i g & fohaet g2 off e o e & 82



01. 12.04 km, North-east 02. 10.11 km, South-east

12.04 e, S9¢-19 10.11 BT, =feror-g&
03. 12.04 km, North-west 04. 6.01 km, South-west
12.04 T, STe-afam 6.01 T, =feror-afam
05. 5.52 km, North
5.52 T, 39T
Solution for Question 41 Ans Key: 3
eng hin 3 5
6 | 6
5
3
Q-42 How many such pairs of letters are there in the word ‘EVACUANT” each of which has as many letters between them in the word as they have between
them in the English alphabet?
9Tz 'EVACUANT' & 31e121 % U fohay o112 g, IO & ek o 1= 9Teg | I+ 31 37T & fora o6 e a1 St aroiemet § 2 22
01. [ess than four 02. Six
AL T FH =
03. Five 04. Four
ar= E1E8
05. More than six
ERICIBED
Solution for Question 42 Ans Key: 1
EVACUANT =AC
Q-43 If each vowel in the word CONCERN is changed to the next letter according to the English alphabet then which of the following will be the 5th letter from
eno hin  the left end?
T2 /57 CONCERN # Sc= T2 Tl SIS JUTHTAT 6 ATHE IH Tl AT § TRAtd T (@7 Sra ar (8 § | F-77 a1d G 597 A7
ZITT?
01. p 02. F
03. R 04. N
05. C
Solution for Question 43 Ans Key: 2
eng hin  CONCERN
Q-44  Inacertain code language ‘SOUTHERN’ is written as 'UVPTMQDG’. How will ‘MARIGOLD’ be written in that code language?
enghin  TF A Fg w197 § ‘SOUTHERN’ %7 'UVPTMQDG' fer@T Srar g1 36t e wraT # 'MARIGOLD' 1 %+ forar S
01. JSBCNFKS 02. JSBNHPME
03. JSBNCKNF 04. NBSKCINF
05. None of these
i 7 S A
Solution for Question 44 Ans Key: 3
eng hin
#1 +#1 #4141 -1 -1-1 4 +1 41 #4141 1 -1 -1 4

SOUT%%N S O U T N

Similarly BRI CA



A G_0O
J 8 B C K N

A G_0O
J § B C K

Q-45 In the following code language, TALENT is coded as OZGGMYV then how will WEIGHT be coded in the same code language?
eng hin  EITIE e w7 § TALENT FT OZGGMV ¥ =7 & Ffed f3ram wam & a7 391 e wTar § WEIGHT F1 33 F1fea 3T S

01. RVDGST

03. RVDGRT

05. RXDGST
Solution for Question 45

02. RVDHST
04. RVDGSU

Ans Key: 1

eng hin

TAL ENT

m?)K @K

0ZG GMV

Q-46 The position of how many digits in the number ‘845759639 will remain unchanged after the digits are rearranged in descending order within the number?

eng hin  FEAT ‘845759639° H ST T HEAT F AvaL ATl FH H TAACAT FA % ATE (hael 1 % S ATRATAT Tadl?

01. None
EOERE

03. Two
ar

05. None of these
THH T FIS Aol
Solution for Question 46

eng hin

9 9 8|7] GEE S &

8 4 5|79 9 6 3 9

02. Three
LiG

04. One
T

Ans Key: 4

Passage for Question 47, 48, 49, 50, 51 (ST-11IBPSRRBCLERKPRE(1-5R)2021)

eng hin Passage

Study the following information carefully and answer the question given below.

frafafaa sraerd o1 eamgd® segga & R fRruag g srsacd

Eight persons E, J, K, L, N, F, G and H are sitting in a single row and all are facing towards the north but not necessarily in the same order.
H is sitting fourth to the left of L. Both J and K are sitting at extreme ends. J is not the immediate neighbor of H. G is sitting exactly between H and F. More than

two persons sit between E and N.

Az AT E, J, K, L, N, F, G 3T H UF 4T § 95 § o7 aef¥ 7 @ 3T T 3T § AR a9TqT A5l 361 79 4§ 2l
H, L3 a0 51 €479 9¥ $37 21 J 3 K St AT e a7 9% 81 J, H F7T FAeheaq TS 721 81 G, HAT F F SiF S 95T gl ESRTN F Ao ar

o =1 35 )

Q-47 Who is third to the right of G?

01. N 02. J
03. E 04. L
05. None of these/
TH TS AL
Solution for Question 47 Ans Key: 4
eng hin
EN H G F EN L K




Q-48  Who is/are neighbours of L?
enghin LT TETET FIeT %/%‘?
01. E 02. NandK
03. EandK 04. Cannot be determined
Rt 2t frar ST aar
05. None of these
i S
Solution for Question 48 Ans Key: 4
eng hin
EN H &6 F EN L K
Q-49  Who among the following sits exactly between G and K?
enghin  FETIET & & 9 G T K % 2t 4= § 931 2?
01. F 02. H
03. N 04. L
05. E/N
Solution for Question 49 AnsKey: 5
J EN H G F EN L K
Q-50 How many people sit between H and N?
H 3T N & &1= fovae T 98 82
01. One 02. Two
UF ar
03. Three 04. Cannot be determined
i IEEUASR RIS UG ETII
0S. None
EOEGE
Solution for Question 50 Ans Key: 4
J EN H G F EN L K
Q-51  Whosits third left of G?
enghin G ¥ aT T &I 9 9 937 22
01. J 02. F
03. N 04. E
05. K
Solution for Question 51 Ans Key: 1
eng hin
EN H G F EN L K

'score the maximum marks' is written as 'pan cha go mo'.

Passage for Question 52, 53, 54, 55, 56 (ST-111BPSRRBCLERKPRE(6-10R)2021)
eng hin Passage

In a certain code language, some words are written in a coded form which is given below.

uF T g2 aTaTH g asAq 1 [ F7H rarArar § A= frgrwar




‘marks are less than’ is written as ‘ta ha cum pan’.

'score the highest marks' is written as 'go cha she pan’.

'less than you' is written as 'ha cum va'.

'score the maximum marks' %7 'pan cha go mo' for@T STTaT %’I
‘marks are less than’ T “ta ha cum pan’ for@T STTAT )

'score the highest marks' %7 'go cha she pan' for@T SITaT 31
'less than you' T 'ha cum va' fer@T SITaT 21

Q-52  Whatis the code for 'highest'?
enghin  ‘'highest' % forT %z 77 272

01. she 02. cha

03. ha

05. None of these
TAH q HIS Tl

Solution for Question 52

score]|[the Jjmaximum [marks}{pan](Lchalfao] mo

XX XX XX XX
Imarks| are less than>ta ha cum

04. pan

Ans Key: 1

eng hin

lscorel _mgllhighest Imarks|=>[ go|fchal she

XX XX XK XK
less than you ha2cum va

Q-53 What can be the code for 'you score maximum'?
'you score maximum' FT F& FIT ZT HHAT 5?2

01. vamo cha 02. cha gomo
03. mogova 04. Either 1 or3
05. None of these
TAH A TG
Solution for Question 53

scorelf[ the Jjmaximum [marks}s{pan]|[cha lfgo] mo

. XX XX XX XX
[narks] are less than>ta ha cum

Ans Key: 4

eng nin

scorel| [Toelhighest [markg]=>{go M\ she

X X% P
less than you ha®cum va

Q-54  Which word stands for 'cum'?
eng hin  'cum' 5 o158 F forw gt grav @ ?

01. less 02. are

03. less or than 04. Marks
less IT than

05. None of these
TAH F FIE TG0

Solution for Question 54

score]|[the Jmaximum [marks}s{pan]([cha Jfao] mo

XX

XX XX XX
are less than >ta ha cum

Ans Key: 3

eng hin

score]| [elhighest Imarks|~=>|[ a0 cha] she [pan]




f— o — o T

XX XX XK ... K
less than you ha2cum va

Q-55  Which of the following is the code for 'marks'?
eng hin ﬁ'ﬁﬁ@rqﬁﬁm’marks'%ﬁ'qﬂfié?

01. cha 02. pan
03. cum 04. go
05. None of these
TAH FHE TN
Solution for Question 55 Ans Key: 2
hi 1 &
“e Iscore]|[the Jlmaximum [marks}+{pan]|[cha fgo] mo
XX XX XX XX
marks| are less than >ta ha cum
score]| [thelhighest  [markg~>[ao][cha] she
XX XX XX S XX
less than you ha™cum va
Q-56  What can be the code for 'than score the less'?
'than score the less' FT e FT &1 TFHAT 52
01. cha go ha cum 02. ha cum go she
03. chaha go mo 04. Cannot be determined
T Tl AT ST FRaT
05. None of these
T T F1E TE
Solution for Question 56 Ans Key: 1

maximum  [marks}>{pan]|Lcha fao] mo

XX XX XX XX
Inarks| are less than >ta ha cum

lscore]| [ihelhighest Imarks|=>[_go]|chall she

XX XX XX . XX
less than you ha2cum va

Passage for Question 57, 58, 59, 60, 61 (ST-11IBPSRRBCLERKPRE(11-15R)2021)
eng hin Passage

Study the following information carefully and answer the questions given below.

frafarfaT rasrd 1 g d T srsqaT FL AT A 713 vt F A AFore-

Eight friends J, K, L, M, N, O, P and Q are sitting in a circle facing towards the centre.
K is sitting fourth to the left of J and is neighbour of P and O.

O is sitting fourth to the right of N and third to the left of L.

M is an immediate neighbour of Q but not of J.

Az A= 1, K, L, M, N, O, P 3T Q UF I | FrxTHT BT 95 g

K, J 3 a3 =it 437 £ 79T P 4T O 7 T2 21

O, N % T3 =TT F37 & TAT LF a1 e 2

M, Q FT I=THT 8, T J T 72T

Q-57  Who is opposite to M?
enghin M ATOT 17 82

01. p 02. L
03. K 04. N



05. None of these

TAH FHE T
Solution for Question 57 Ans Key: 2
eng hin K
P o)
L M
N Q

Q-58 What is position of J with respect to Q?
eng hin Q ¥ ATer J Y Rufa w82

01. 3rdto the left 02. 2nd to the right

EIRRIGE T T
03.  4th to the left 04. Cannot be determined
05. None of these

TAH FATS TRl

Solution for Question 58 Ans Key: 5
K
P 0
L M
N Q

Q-59  Whois sitting 2nd to the right of K?
K % &Td THIT &I 937 872

01. N 02. L
03. M 04. O
05. None of these
TAH H A TRl
Solution for Question 59 Ans Key: 2

eng hin K




Q-60

eng hin

Which of the following pairs are immediate neighbor of P?

e SISt & | 49 97 P 7 G TSIl 82

01. KL 02. MK
03. OL 04. MO
05. None of these

T ATE TE

Solution for Question 60

eng hin

Q-61

N Q

Who is sitting to the immediate left of M?
M 3 T a1 &I 457 22

01. ) 02. O

03. Q 04. Cannot be determined

05. None of these
TAH HFTE A8l

Solution for Question 61

Ans Key: 1

Ans Key: 3

Passage for Question 62, 63, 64, 65, 66 (ST-11IBPSRRBCLERKPRE(16-20R)2021)
eng hin Passage

In each question given below two/three statements are followed by two conclusions numbered I and II. You have to take the given statements to be
true (even if they seem to be at variance from the commonly known facts). Read the conclusions and decide which logically follows.

= T AFIT R VAT FIT T Y A5FS 1R FFTATF | FI7T FT AT A Y (ATR F ATATATAT Tl 7241 @ P #7971 7 g1) fsawat £7
TEFTATHT T TT FLATE 6 17 & frewe a1+ €7 & Iqaeowr 33 1

Q-62

eng hin

Statements:

All B are M.
NoMisaN.
Conclusions:
(I)NoBisaN.
(II) Some M are B.
ER KGN

T B,M 2l

FTE M, N &l 8l
rewy:

() %7€ B, N Tl 21



M FSM, Bl

01. TIfonly conclusion I follows. 02. TIf only conclusion II follows.
Tf% Faet fATHT [ STEeT FdT 2 T2 Faer fAeFT 11 STEeor FaT 2
03. Ifeither conclusion I or II follows. 04. If neither conclusion I nor I follows.

Tt 7T AT e 13T 11 STEeT F2aT g T T T R [T 11 STH0T F2aT &l
05. Ifboth conclusions I and II follow.

T Ay 1377 11 THT a0 w2 &
Solution for Question 62 Ans Key: 5
eng hin
M

Q-63  Statements:

eng hin  AllBare M.
NoMisaN.
Conclusions:
(I) Some M are not N.
(IT) Some B can be M.
DK
T B, M 2|
FTE M, N 72T 21
frewy:
() FZ M, N T&1 g
(I1) F= B, M & H(T 51

01. Ifonly conclusion I follows. 02. only conclusion II follows.
Tf< dae AehT [ Sgaor w2 2l 7% Faet [ATHT 11 AqaToT FEar 8|
03. TIfeither conclusion I or II follows. 04. TIfneither conclusion I nor II follows.

i 77 T e 13T 11 STEeT FYaT 8| Tfe 7 a1 fAend [ 97 11 STE<r F:2aT 2

05. TIfboth conclusions I and II follow.

T2 e [ 377 11 AT STTET H3d ol
Solution for Question 63 Ans Key: 1

hin

Q-64  Statements:

eng hin Some M are T.
ANl T are P.
NoPisaC.
Conclusions:
(I) Some M are not C.
(Il)NoMisaC.
Hqe:
FTEM, TR
il T,P 8l
FTE P, C T 21
fArewe
(D) F= M, C &I &)
(D) FTE M, C =T

01. Ifonly conclusion I follows. 02. If only conclusion II follows.
Tfe Fae fAeHT [ STEeor FdT 2 7% Faer fAewT 11 STEeer F2daT 21

03. Ifeither conclusion I or II follows. 04. Ifneither conclusion I nor II follows.

T2 7T a1 AT 137 11 S8 F:3aT gl T T T AR [T 11 STH20 FH2aT &



05. Ifboth conclusions I and II follow.
T Feh [ 37 11 EET STEe Fd gl

Solution for Question 64

Ans Key: 1

eng hin

Q-65  Statements:

eng hin  Some Mare T.
All T are P.
NoPisaC.
Conclusions:
(I) AT are C.
() AllM canbe T.
EREH
FEM, T
afT T, P 3l
% P, C T 21
Ao
O aHT,C 2
(1) 7T M, T 27 7l 2

01. TIfonly conclusion I follows. 02.

T2 Fae [T [ STEY0T FdT 2

03. TIfeither conclusion I or II follows. 04.

T 77 a1 w1 3T 11 STEeT F7aT 8

05. Ifboth conclusions I and II follow.
T [eh [ 37 11 I STEEE Fd gl

Solution for Question 65

Q-66  Statements:

eng hin Some M are T.
All T are P.
NoPisaC.
Conclusions:
(I) Some T are not C.
(II) Some M can be P.
Hqe:
FTEM, TR
i T,P 8l
FTE P, C T 21
fAeae:
() %= T, C /&t &
(D) FZ M, P BT % g

01. Ifonly conclusion I follows. 02.

Tfe Faet fAehT [ STEeor F3dT 2

03. Ifeither conclusion I or II follows. 04.

T2 7T a1 AT 137 11 S8 F:3aT 2l

05. Ifboth conclusions I and II follow.
Tty Ao [ 37 11 39T SIHoT e 2l

If only conclusion II follows.

T2 Faer R 11 STEeoTr F7aT 2

If neither conclusion I nor II follows.
i 7 ar Ao [ 97 11 T80T FEar 2

If only conclusion II follows.

Tfa Faer fAewT 11 sTEeor FdT 21

If neither conclusion I nor II follows.

T 7 T [AeF [T 11 a0 F2aT &

Ans Key: 2



Solution for Question 66 Ans Key: 1
eng hin
Passage for Question 67, 68, 69, 70 (ST-11IBPSRRBCLERKPRE(22-24R)2021)
eng hin Passage
Study the following information carefully and answer the questions given below:
afafad STasTa F 1 5qMga T A5qIT HL A TATH 7T 713 w50t % ST AR
P + Q means P is the Father of Q.
P - Q means P is the Sister of Q.
P x Q means P is the Mother of Q.
P+ Q means P is the Husband of Q.
P+ QAT P, Q FT fAar 21
P-Q# U P,Q FT a2 2
P x Q &1 % P, Q #T HTdT 2l
P+ Q T &7 P, Q FT U 2|
Q-67 If expression P + Q - R x S is definitely true then find out the answer of the question given below.
Ffyafasafr P+ Q- R x S AT &7 & gca g A1 A 53 M@ wy wTIwT A9 MAR/Irw
How is P related to S?
P, S T #¥ ey 22
01. Father 02. Grand Father
\ u-ig- 1 i[
03. Maternal Grand Father 04. Cannot be determined
05. None of these
BLEEIERE]
Solution for Question 67 Ans Key: 3
P+
e e
S
Q-68 If expression P + Q - R x S is definitely true then find out the answer of the question given below.
enghin FFXFAFTAIRTP + Q- R x S fafrg v @ wex g av A= fd M@ wy wrIveama N
How is R related to P?
R, P ¥ 9 grafeyd g7
01. Daughter 02. Mother
REil AT
03. Sister 04. Brother
= g
05. None of these
TAH FHIE TRl
Solution for Question 68 Ans Key: 1

eng hin

P+
1



Q-—R-

|

S

Q-69 Question given below is based on the expression I + J (?) K x L + M. What will come at the place of question mark (?) if J is maternal
eng hin  grandfather of L?

= fRrarraryg afr=mfF 1+0 (2) Kx L+ M aTarariea 81 IfE J, L ¥ dedd 7S BTITE qF IHAT9F F37g (?) F €T ILFAT
AAMT?

01. + 02. —
03. + 04. x
05. None of these
TAH S TRl
Solution for Question 69 AnsKey: 1

eng hin [+

J

{7
LS

K-

L+ = M-

Q-70 Question given below is based on the expression I +J (?) K x L +~ M. What will come at the place of question mark (?) if J is father-in-law of
M?
= frarrarrgafaamfF 1+ (2) K x L+ M Tsnarfia g1 afe J, M ¥ $1e3ga-at § af Ta9719% {378 (2) F TATT ITFIT AAT?

01. 02. x
03. + 04. _
05. None of these
=3 & 18 78
Solution for Question 70 Ans Key: 1

|+

J

{?}

K-

L+ == M-

Passage for Question 71, 72, 73, 74, 75 (ST-111BPSRRBCLERKPRE(29-33R)2021)
eng hin Passage

Study the following information carefully and answer the questions given below.

frafafaa TTasTd &1 eamgd® qeqaT FL AT frwaw v F 397

A, B, C, D, E, F and G are seven employees, working in the school APS, DPS and CDSN. There are at least two employees in each school. Each of the seven
employees earns a different amount.

E, works in APS School only with other employee F who earns the maximum. C is the least earner. B and D work in the same school but not with C. G and A
work in DPS School and earns more than each of E, B and D. D earns more than E but less than B.

A,B,C, D, E, F 3T G 9Td FHATL &, ST &1 APS, DPS 3T CDSN § FTA¥d g TIF T H FH  FF &I FHAT gl ATT FHATAT H F T4 Th ST
Trfer FHTa )

E, APS ¥FT ¥ Fad 7 FHATL F F TTT FHTH FHLAT ¢ ST ATSHAH FATAT g1 C TG FH FHHIT AT g1 B 37T D TF T Tl H FH1H Fd g At C & a1
Tl G 3T A, DPS TFA | FTH F7d & 31T E, B 31T D # & T & T8 A1 & D, E & T8 Afohe B ¥ 7 FHTAT 5




Q-71  Whois the third highest earner among the employees?
eng hin  FHATAT H & TTHLT HIH SATF FATA ATAT FHl e 22

01. C 02. G
03. F 04. E
05. Either G or A
TTAGATA
Solution for Question 71 Ans Key: 5

eng hin A D PS

B CDSN
C DPS
D CDSN
E APS
F  APS
G DPS

F>G/A>G/A>B>D>E>C

Q-72 In which school do three employees work?
AT FHATT o6 T § FH Fd 82
01. CDSN 02. DPS
03. APS 04. Data inadequate
05. None of these
TAH TS AR
Solution for Question 72 Ans Key: 2
A DPS
B CDSN
C DPS
D CDSN
E APS
F APS
G DPS

F>G/A>G/A>B>D>E>C

Q-73  What will be the rank of A according to their income when they are arranged in descending order of their income?

enghin ST % STATT A T BT FIT 2R, S Irg ITHT AT % STTAL ATLUG! 6 H A2 (677 v 22

01. Second 02. Third
FET e
03. Fourth 04. Fifth
EIEl CIECH

05. Can't be determined

T TET HY TRl



Solution for Question 73

Ans Key: 5

eng hin

A

B

G

F>G/A>G/IA>B>D>E>C

DPS

CDSN

DPS

CDSN

APS

APS

DPS

Q-74

eng hin

In which of the following school does B work?

Fefofe & & e o § B Fd Fear g2

01.
03.

05.

CDSN
APS

None of these
TAH H AL Aol

Solution for Question 74

Q-75

Clig i

A

B

G

F>G/A>G/A>B>D>E>C

DPS

CDSN

APS

APS

DPS

02. DPS

04. Data inadequate

Which of the following statements is definitely true?
ot Faai F g aE-ar Fo Rz sra a2

01.

03.

05.

B earns less than A and G.
B, A 3% G o %% FHTAT 2

E earns more than B and F.
E, B ¥ F & SATT FHH714T

None of these

T ATE TE

Solution for Question 75

02. B earns less than E and G.

B, E 3T G & %% FHHTdT 2

04. C earns more than D and B.

C, D 3T B ¥ SATT FHHT4T |

Ans Key: 1

Ans Key: 1

eng hin

A

B

DPS

CDSN

DPS

CDSN

APS

APS



G DPsS

F>G/A>G/A>B>D>E>C

Passage for Question 76, 77, 78, 79, 80 (ST-11IBPSRRBCLERKPRE(34-39R)2021)
eng hin Passage

In each of these questions a set of letters is given. After this four combinations of numbers/symbols (1), (2), (3), and (4) are given. The letters are to
be coded as per the scheme and conditions given below. You have to find out the serial number of the combination which represents the letter group.
The number of that combination is your answer. If none of the combinations is correct, then your answer will be (5) i.e. none of the above..

TR A TAFTITR AGU FTUF G (AT TATE | TF S HAF/AATH B ATHIST (1), (2), (3), T (4) FRT TR AT w7 = 7 FroAw
T AT 6 ATHTCHIS HLATE | ATTHT ST AT 6 FHTH T ATT FIATY T AATFHE FT IAETU FIATR | SHATTAA FTFHFATH AMIFTIACR |
FfE 1S 9T EITST GET AL §, TV ATHT IV (5) AATY A & 1S g1 &, BT

Letter : ERJLN AQDPUBFI KTH
Digit/Symbol: * 2 © 96 # 5 1%$ £ 4@ 7 38
Conditions :

(1) Ifthe first letter is followed by a vowel and the last letter is preceded by a consonant then the last letter is to be coded as the code for vowel following the first
letter.

(ii) If there are no vowels in the group of letters then the codes for the fifth letter from the right and the fifth letter from the left are to be interchanged.

(iii) If the group of letters contains two vowels then the codes for both the vowels are to be interchanged.

qEAT :ERJLNAQDPUBTFIKTH
FHROMNFE :* 209 6 #51%$ £4@7 38
9T

(i) T2 T=r T&I2 F A8 | UF T 3T AT &L F Tl U ST 2, AT A& ST Tl Tge AT % d7E AT gU TG 6 Hle F HI(ed (AT ST g
(ii) 7T STt % wqg § FTE o T A G AT IH F Af qET ST AT F T AT F FIE T AT § TRATIT Y AT ST 2
(iii) 7% 37e1<F 3 AU F 37 T IURAT 2 AT AT T F I Bl AqE H qieafaa w7 =Zar S 21

Q-76  PNEBII

01. Yb@EO* 02. %6*@£O
03. %6*£0@ 04. @%£o6*
05. None of these
T AT AL
Solution for Question 76 Ans Key: 1

Condition (III)/ 9T (I1I)

Q-77  FABLNK

01. 4#£96# 02. £4#96#
03. 4#£96# 04. 49#6#£
05. None of these
TAH H A(S ARl
Solution for Question 77 Ans Key: 1

eng hin  Condition (I) Tt (1)

Q-78  DTQKNH

eng hin
01. 135768 02. 137568
03. 138765 04. 165738
05. None of these
TAH HA(S Aol
Solution for Question 78 Ans Key: 4

eng hin  Condition (II)/ 9T (II)

Q-79 LPKNJB
eng hin

01. 9%£670 02. 9076%%£
03. 9%760% 04. 9607%%£



mailto:%256@�
mailto:%256*@�

05. None of these
TAH HFIS Tl

Solution for Question 79 Ans Key: 2
eng hin  Condition (II)/ 2T (1)
Q-80 TNAPUB
eng hin

01. 36%S$#HE 02. 36#%S$£

03. 63#%$£ 04. 365%#HE

05. None of these

TAH HFS Tl

Solution for Question 80 Ans Key: 4

eng hin  Condition (II)/ T (III)




